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1. Which one of the following denoctes
a peneralization that if any two
responses differ in their momentary
probability of occurrence, the
ppportunity to engage in the more
probable will serve to reinforce the
less probable?

fa} The Premack principle
fb) The principle of proximity
fej The law of effect

fd) The principle of reinforcement

2. Consider the following statements

regarding operant conditioning :

1. The conditioning is done on
- emitted respanse, '

2. The conditioning is most
universal and occurs in all
lower animals.

3. Autonomic nervous system is
involved in the conditioning.

Which of the statements given
above is/are correct?

faj 1 only

{b) 1 and 2 only
fci 2 and 3 only

(d) 1,2 and 3
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3. Consider the lollowing statements

The association value of non-sense
gyllables used in verbal learning
cxperiments is assessed by

1. percentage of subjects reporting
an asscciation for hon-sense
syllable

2. counts of written frequency of
non-word letter combinations

3. rated familiarity of the
non-word letter combinations

4. rated pronounceability

Which of the statements given
above ate correct?

fag) 1, 2 and 4 only
{6} 2, 3 and 4 only
fg 1, 2 and 3 only

td) 1,72, 3and 4

4. Which one of the following conditions

qualifics to be an instance of
negative reinforcement?

{a} Giving a punishment

(b} Withholding a reward

fej  Withdrawing a painful stimulus

(dj Excessive rewarding
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5. The theory of achievement motivation

suggests that individuals are simul-
taneously stimulated by motive of
B1CCEES {Mg]' and motive to avoid
failure {M_;)- The probability of
success remaining constant in all
situations, indicate in  which
situation a person with high na,
will perform better

!ra) MS>MHT
{bj Mg < My
£} Mg =My

) M.+ M =0

6. Research on the physiological basis

of emotion shows the involvement
of

(aj the central nervous system

{b) only the sympathetic nervous
system

fc)  the limbic system

{d) only the parasympathetic
nervous system

7. Match List-I with List-II and select

voow >

the correct answer using the code
given below the Lists :

List—d List-IT
{Brain waves} {Mental states)
Alpha 1. Alertness
Beta 2. Deep sleep
Delta 3. Emotional stage
Theta 4. Quiet and
relaxation
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Code

fa) A B C D
4 1 2 3

fb) A B o D
3 1 2 4

el A B € D
4 2 1 3

i A B C D
2

8. Most of the physiological changes

assoclated with emotions are
caused by the secretion of which
one among the following hormones?

fe) Thyroxin
fb) Adrenaline
{c} Serotonin

{d) Somatotropin

9, Cannon-Bard theory ol emotions is

mainly concerned with

{a}) simultaneous emotional
experiences and physiciogical
reactions

(b emotional experiences leading
to physiological reactions

fc}  physiological reactions leading
to emotional experiences

{d} emational experiences in the
absence ol physiological
reactions
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10. Congider the following statements :

In terms of complexity of tasks the
optimal facilitation of performance
differs Irom what generally cccurs
in noermal cmotional arousal. This
difference is explained by

1.  Activation theory

2. Cannon-Bard theory

3. Yerkes-Dodson theory

Which of the statements given

above isfare correct?

faj 1,2 and 3

{6l 1 only
¢ 1 and 3 only
{d}) 3 only

11. When the unacceptable ‘id’ impulses

are dangerously close to breaking
into consciousness, the type of
anxiety experienced is

{a} Reality anxiety

{b) State anxiety

(¢} Neurotic anxiety

{d] Moral anxiety

12. There are theories which assume

that the samme traite or dimensions
of personality apply to everyone in
the same way, though people differ
in the extent to which they may
posscss a characteristic. Which ane
of the following is the approach to
study the personality with the
above-said assumption?

(&) Nomothetic approach
{b} ldiographic approach
fc} Trait appreach
{d} Type approach
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13. “An innate psychophysical disposi-

tion which permits its possessor to
acquire reactivity to certain classes
of objects more readily than to
others” is

fa] a sentirmment
fh)  an attitude
fc) an erg

{d} a dynamic lattice

14, Which of the following can be

strictly categorized as type theories
of personality?

1. Sheldon's theory

2. Hippocrates' theary
3. Eysenck's theory
4. Allport’s theory

Select the correct answer using the
code given below :

Code :

fa) 1 and 4

7} 1 and 2 only
fc) 1,2 and3

(i} 2,3 and 4

15. ‘Counter-sterectypic inference’ can

be effective in reducing
(o) diserimination

b} prejudice

{c; disscnance

{2} social isolation
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16. The major steps followed in the

preparation of Thurstone’s Attitude
Scale are listed below :

Caollecting the itemn-pool

2. Ttem selection
3. Calculation of the scale values
4. Evaluation of the items by

Judges

What is thc correct sequence of
the abave in the preparation of the
Thurstone-type Attitude Scale?

fa) 1-4-3-2
b)) 1-2-3-4
fc) 1-3-4-2
(] 1—4-2-3

17. Bipolar adjectives are used in which

one of the foliowing scales?
fa) Semantic differential
(b}
{c!

(d)

Sociogram
Sacial distance

Equal-appearing interval

18. The process by which people attempt

to find causal explanation of others’
and their own behaviour is known
as

fa}
(&)
fc)
fd}

Impression formation
Attribution
Fersuasion

Seli-learning
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19,

20.

When we form an overall impression
af somecne based on his/her
behaviour, we separately store the
evaluation and the behaviour in
memery, This notion sterms from

fa) Cognitive dissonance theory
fb) Attribution theory
fe} Reactance theory

fd)

Dual-representation theory

Match List—I with List-ll and select
the vorrect answer using the code
given below the Lists :

List—f ListIT
(Concepts) {Theorists
associated)
A, Aggressive 1. Miller and
instinct Dollard
B. Needs 2, Freud
hierarchy
C. Achievement 3. Maslow
motivation
D. Frustration- 4, MeClelland
aggression
hypothesis
Code
faj A E C D
2 3 i 4
B A B C D
2 3 4 1
fc) A B C D
3 2 4 . l
fdl A B C D
3 2 1 4
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21. Consider the following : 24, Which ameong the following is the

1. Seli-assertion appropriate  inventory. to  be
employed o comprehensively

2. Cregariousness assess the personality of normal
3. Ego individuals?

4. Self-regard

5. MNarcissism fa) MMPI-I

Which of the above are in the by CPI

Cattell’s list of ergs?

fa) 2,4 and 5 fc} Bell's Adjustment Inventory
, 4 an

&) 1,3 and 4 fd) I-E Locus of Control Inventery
fc) 1,2and 4
25. Which one of the following is the hest

statistical procedure used -to
identify patterns of traits that go

{d) 1,2 and 5

22. "Adulthood is not simply a reactien together?
to childhood experiences but rather
is a contnuing developmental fa) Factor analysis
process that is influenced by the
previous stages.” This is stated by fB) Analysis of covariance
(aj Erikson fe}  Correlation
(b} Adler fd) Regression analysis
fc} Horney
(@ Mahler 26. Which one of the following

statements is net a characteristic
of Jensen’s Level I ability of

23. Erikson assumed that human intelligence?

development is characterized by

a series of stages that arc universal faj It is an associative ability

to mankind snd unfold in a

predeterminad way. This principle fb) It does not involve transfor-
is called

mation of inputs

fa) Pleasure principle fej Tt does not invelve the eduction

{b] Reality principle of relations and correlates

(c} Epigenetic principle {d) It is not distributed homeo-
gencously among different

{d) Nirvan principle racialfsocial class groups

P-DTQ-J-QTZ/6A 10
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27. When

the main concern of a
psychologist is to determine the
quantitative relationship between
the vphysical characteristics of
stimuli and  sensations  they
producge, it is known as the study in

()
(b}

Neuropsychology
Fhysiological Psychology
fc) Experimental Psychology

{d} Psychophysics

28. Match List-1 with List-II and select

W

the correct answer using the code
given below the Lists :

List-f List-If
{Psycholpgist) {Subfect matter
focus)
Titchener 1. S-0-R relations
Lewin 2. 5-R relatons
Watson 3. Elements of
CONsCinuUsness
Tolman 4. B= f(P+E)
5. Functions of
consciousness
Code ;
fa;l A B € D
2 4 3 1
) A B C Db
2 5 a3 4
g A B C D
3 4 2 1
{di A B C D
3 5 ] 4
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30.

12

Which one of the following is
& primary advantage of the
naturalistic observation?

fal 1t is a highly objective research
method

It allows for the better control
of secondary variance in the
dependent behavioural variables
of interest

(b)

fc} As compared to other research
methods, it allows for collecting
information more casily, quickly
and cheaply

fd) It allows the study of behaviour

that is realistic, varied and

spontancous

Cansider the following statements
with regard to case study as a
research technigue :

1. REesecarcher’s bias i3 a sertous
problem.

2. The technique s time-

CONSUIming,

3. It is difficult to confidently
draw generalizable canclusions.

Which of the statements given
gbove arc correct?

fa) 1,2 and 3

fb) 1 and 2 only
fe} 2 and 3 only

(] 1 and 3 only
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21, The main advantage of the
experimental method is that it can
be used to

{a)

control undesirable effects of
organismic variables

cstablish cause and effect
relationship between variables

(&}

fc) decrease systematic variance
in variables

fd) measure independent variables
more accirately

32. A psychologist wants to determine
whether listening to music while
studying affects test performance.
What treatment is the experimental
and the control group likely to
receive in this experiment?

{a} Both the groups will listen to
music while studying

i} The experimental group will
listen to music while studying,
but the control group will not

{e/ The control group will listen to
music while, studying, but the
experimentai group will not

Both the pgroups will be
presented with the music, but
the control group will be asked
not to listen to it

(d)

33. Consider the following statements
regarding the relationship between
standard deviation and variance :

1. Standard deviation can be
smaller than variance,

2. Varance can be smaller than
standard desdation.

3. Both of them can be equal.

P-DTO-~J-QTZ/6A
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Which of the statemments given
albove are correct?

{a)

fe) 2 and 3 only

1 and 3 only

fcp 1 and 2 only

fdi 1,2 and 3

34. An educational psychologist hypothe-
sized that higher anxiety disrupts
the performance in examination. If
the correlation between anxiety
scores and examination marks is
caleculated, which one of the
following results would be in line
with the hypathesis?

fa) -0-32

b

e/ 0-25

-0.05

(d) 0-40

38, In a study, education was coded as

below
[lliterate : 0
School education 1
First degree C 2

Postgraduate degree . 3

The above coding constitutes
fa}) nominal scale
(b} ordinal scale
fe). interval scale

(d)

ratio scale
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36. Which method of reliahbility stresses

ol the intercorrelations among all
the jlems in a scale?

(o) Alternate form

(b} Split-half

{cj Chronbach’s alpha coefficient
{d} Test-retest

37. A scholastic aptitude test was

admirnistered to =z group of
100 schoal students. The observed
variance {52) of the test scores was

found to be 250 and the error
variance (02) turned out to he 9-0.

The reliability of the test then
walld be

fa} 060
(b} 080
{c} 075
() 064

38, A mental ability test comprising

of 50 items has reliability of Q-80
and wvalidity of 075, Ten more
equivalent items are added to this
test. Dy doing so

(o} reliability of the test will
increase but wvalidity would
remain the same

{b] both reliability and validity of
the test will increase

{c) wvalidity of the test will increase
but reliability would remain
the same

) both reliability and validity of
the test will rermain the samc
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39. Which one of the following statements

15 nrot related to reliability?

{a] Reliability of a test refers to the
consistency ol scores obtained
by the same individuals on
different occasions

{b) Reliability is the proportion of
true varjancc in obtained test
SCOTes

fc) Reliability relates to consistency
among the different items
used for measuring the same
attribute

{di Reliability of a test is
concerned with what the test
measures and how well it does
50

40. A new intelligence test yielded a

reliability coefficient of O-B0 and a
validity coefiicient of 0-20., Which

one of the following inferences can
be drawn?

{a} An error in computation has
occurred  since  bhoth  the
coefficients are expected to be
similar in magnitude

{Bt The test is probably not a
very trustworthy measure of

intelligence

many random

{c) Too errors
in test scoring might have
occurted

{d] The  criterion used for

assessing  the validity is
certainly inappropriate
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41. Concwrrent validity concerns how
well the

{a} content of the test samples the
class of situations or subject
matter about which conclusions
are tu be drawn

(B} test scores correspond to a
criterion  available /measured
at the same time

fc} test corresponds to  some
meaningful traits or constructs
that help us in understanding
an individual

f¢) test score helps in predicting
some future outcomes

42. A verbzal test of intelligence having
a rehability coefficient of 0-80 was
administered to 100 college freshers.
What will be its reliability after
tripling the length?

fa} 0728
b} 0623
&) 0873
(dy 0923
43. Which type of distribution is it, if the

concentration of scores at middle of
distribution is higher than normal?

fa} Positively skewed
() Platykurtic
e} Negatively skewed

fd] Leptokurtic
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44. The deficiency of which one of
the following is associated with
Parkinson’s disease?

faj Qxytacin
fb) Serotonin
fej  Acetylcholine
fd} Dapamine
45. Which one of the following
neurstransmitters is released by
the postgenglionic fibres of the
sympathetic nervous system?
fa} Acetylcholine
{b/ Norepinephrine
{c} Serotonin

{d}) Cortisol

46. Consider the following amino acids ;
1.  Aspartic acid
2. Glutamic acid

3.  Glycine

Which of the abeve isfare neuroc-
transmitter / neurctransmitters?

faj 1 and 2 anly
i 2 and 3 only
fc; 3 only

(d} 1,2 and 3
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47. With reference to parasympathetic 50. Consider the following :
nervous system, consider the

) The limbic system contains
following statements ¢

l. Amygdala
2. Thalamus

1. It stimulates flow of saliva.

2. It dilates pupils.

Which of the statements given . Hippocampus
above isfare correct® Select the correct answer using the
_ code piven below :
fa) 1 onl
Y Code ;
(o) 2 only {¢} 1,2 and 3
{c/) Both 1 and 2 fb} 1 and 2 only
fd) Neither 1 nor 2 fe/ 2 and 3 only

(@) 1 and 3 only
48. Which one of the ioilowing secretes

adrenocorticotroplc hormaone §1. Which one of the following vitamins
(ACTH)? is required for adequate regulation
fa) Anterior pituitary gland' of caleium-phasphorus metabolism?
{b) Posterior pituitary gland ' fa} Vitamin A

b} Vitamin C

fc) Vitamin D
{d} Adrenal medulia fd)

{c) Beta cells of pancreas
Vitamin B,

49. Consider the following : 52. Which of the following are two

The diencephalon contains the serious  eating  disorders  of
priricipal structures such as adolescents?

1. Tegmentum 1. Kwashiorkor

2.  Thalamus 2.  Bulimia

3. Hypothalamus : 3. Tay-Sachs syndrome

Select the correct answer using the 4.

Anorexia nervosa
cade given below :

Select the correct answer using the

Code : code given below
(@ 1,2 and 3 Code :
I and 2
& 1 and 2 only faj 1 an
fb) 1 and 4
fe} 2 and 3 only e 2 and 4
{d] 1 and 3 only fd} 3 and 4
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33. Consider the following : Which of the statements given

Experiments on the following above are correct?
perceprual processes indicate the

role  of innate factors in fa} 1, 2 and 3
development -

- {6} 1 and 2 only
1. Visual depth perception

2. Shape constancy ic) 2 and 3 only

3. Size constancy {d) 1 and 3 only
Seleet the correct answer using the

code given below ;
Code

The preoperational children fail to
fa) 1,2 and 3 do conservation tasks, because

56. Consider the following statements ;

e} 1 and 2 ouly
f¢ 2 and 3 only 1. their thinking is characterized

by ceniration
dj 1 and 3 onl
() o ony 2. they have a tendency to focus

) ) . on transformations
54. In Eriksen’s view, the major

psychological cerisis  of middle 3. fheir undf:rstanding of reality
adulthood is resclving is perception-hound

Which of the staiements given

a} imiimacy versus isolati
fa} intimacy us isolation above are correct?

{b) integrity versus despair

fcj generativity  versus self- fa} -1 and 2 only
abscrption
{d) identity versus role confusion fb) 1 and 3 only

fc} 2 and 3 only
55. Consider the following statements :

The assumptions of the stage (d} 1,2 and 3

sequence of Piaget’s theory are that

1. cognitive stages are not tied 57. Which one of the f{ollowing is
io spectiic lypes of cognilive not a model of representational
problems but are completely knowledge?
general

2. children move through the . (@) Clustering model

stages of cognitive development

. . ) {b) Set theoretical model
in an tmvanant sequence

3. the stages of cognitive : fc} Conservation model
development  are  culture-
specific {d) Network model
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58. Primary memory deals with

fa} sensory memory and short-
term memory

fb) working memory and long-term
memary

fc)  short-term memory and working
mMemory

fd} long-termn memory and short-
term memory

59, Recency effect in  free  recall

decreases with increase in
fa) length of the list
fb) expasure time

fe; number of previously learned
lists

fed} delay prior to recall

60. Cansider the following statements

regarding STM and LTM. Which one
of the following statements is not
correct in this regard?

fa/ STM has a smaller storage
capacity than LTM

{b} Acoustic and visual coding are
more important in 8TM than in
LTM

{c}  Semantic interference is equally
responsible for forgetting in
8TM and LTM

(d) Due to certain lesions in
hippocampal region, individual
fails to transfer information
from STM to TLTM

P-DTQ-J-QTZ/6A
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61. Which one of the following terms

denotes that memaries af
threatening experiences or events
are  somectimes  pushed  into
uhnconscioyus?

{@}) Inhibition
{b} Buppression
fe) Repression

{d} ‘Trace decay

62, A mnhemonic device that involves

forming a tenr using the first letter
of a word which is to be recalled, is
known as

{@} Acronym
f) Pegword method
{e)  Link method

{d} Narrative method

63. Consider the following statements :

1. Concepts that can be clearly
defined by a set of rules and
properties

2. Concepls that emerge from our
experience with the external
world

3. Conceptis that have no fixed or
readily specified set of defining
fearures

4. Concepis that are not based on
prototypes

Which of the above statements
correctly define natural concepts?

fa) 1 and 2

(b) 2 and 3

{¢) 3 and 4
{2} 1 and 4
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64. Which one of the following procedures Which of the above pairs are
best supports the heuristic appreach correctly matched?
of problem-solving?

fa} Trying diffierent responses until fa} 1 and 2
one works

fb) 2 and 3
B} Following a rule that

guarantees a solution to a

specific type of prablem fe¢ 1and3

fel Applying solutions that were fd) 3 and 4
previcusly  successful  with
other problems similar in

underlying structure _ ‘
67. Match List-1 with List-1l and select

{d) Employing rules of thumhb that the correct answer using the code
permit us to make decisions given below the Lists ;
and judgements in a rapid and . )
eflicient manner List-] List~iI
fAuthors) (Approaches)
65. Which one of the following groups of A. Arthur Jensen 1. Hierarchical
factors does mot tend to reduce our madel
reasoning ability effectively? B. Francis Galton 2. Information
processing
(¢} Emotion, oversight bias and C. Phitip E. 3. Reaction
foresight effect Vernon time studies
fb) Syllogistic reasoning, hindsight D. Gardner, H. +. ?ulultLlp le
effect and confirmation bias intelligence
fc/) Expected utility, heuristics and Code

representativeness

(d} Syliogistic reasoning, emotion

and hindsight effect @ A B C

NN
G
—
L wi

66. Consider the following pairs :
bl A B C D

Authors Domains o 3 1 4
1. Cattell : Fluid intelligence
2. Spearman : Principles of fc) A B c D
cognition 4 1 3 3
3. Guilford : Structure of
inteliect {d} A B c 0
4. Hawen i Inlant scales 2 1 3 4
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68. Consider the following :

1,  Ewaluations
2. Products
3. Contents

Which of the above are the
dimensions of J. P. Guilford's
cubical model of intelligence?

fa) 1 and 2 only
f6} 1 end 3 only
fct 2 and 3 only
fd 1,2 and 3
69. Consider the following sub-tests :
1. Digit span
Object assembly

Memory
Digit symbol

U

Picture arranpement .

Which of the above sub-tests are
included in the Wechsler Adult
Performance Scale?

fa) 1,2 and 4
fhl 2,4 and 5
fe) 2,3 and 4
fd) 1, 3 and 5
70. Which one of the following makes

the difference between tast
construction and standardization?

fe) Reliability
{b) Validity
{c) Norms

' {d} Item analysis

P-DTQ-J-QTZ/ 6A
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Raven's Standard Progressive

Matrices provide a direct measure
of

{a) Verbal intelligence
b} Concrete intelligence
{c/ Abstract intelligence

{d} Emotional intelligence

Which one of the fallowing
intelligence tests is most widely/
more frequently used for diagnostic
purpose?

{a} Stanford-Binet Inteliigence
Scales

{b} Wechsler's Intellipence Scales

{¢} Thurstones Primary Mental
Abilities Test

{d) Army Alpha Test

73. Relationship of distal to proximal

representations of an  object,
indicating the degree t¢ which
physical attributes determine any
glven perception, is kneown as

{a} Brunswik ratio
{b) Btevens' power law
{c} Variahle ratio

{d} Sensitivity ratio

74. The tendency to perceive an object in

its entirety even when some detzils
are missing, is known as the law of

) proximity
(&} common region
fc) closure

(2] good continuation
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fai
{b}

Integration

fc/ Motion parallax

{d

75. Which onie of the following is not a
cue for depth perception?

Eelative size

Interposition

76. Match List-{ with List-I] and select

the correcct answer using the code
given below the Lists :

List-I
{Phenomenon)
. Apparent motion
of a small spot of
light against a
cornpletely dark
background in a
completely dark
Do
. Small jerky eye
movements which
accutr when a
person is fixating
o an ohject
. A {ype of apparent
movement without
a moving stirmushis

. Movement of eye-
balls

Caode :

fa) A B
2 4

) A B
2 1

fel A B
3 i

idji A B
3 4
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Lise-If
{Concapt)

. Stroboscopic

Movement

. Ciliary

Movernent

79. Research findings

. Autalanetic

Movetnent

. Baccadic

Movement

MO g W Wy
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78,

- The moon at the horizon looks higger

than the moon at the zenith,
because the perceived distance at
the horizon is greater than at the
zenith, It supports the

fa) Cue theory
{8} Constancy principle
{c} Distance principle

{d) Gestalt principle

Following a hsad injury, a victim’s
performance dropped in a language
test but not in a spatial test. This
may be due to a possible injury in
the following brain area

{a} The right hemisphere
{b} Broca’s area

{c) The reticular system
fd) Medulia ‘

have demon-
strated that we tend to perceive our
awn behaviour as stemming largely
from situational factors, but that of
others as primarily the result of
internal dispositions or character-

istics. Thig phenomenon is known
as

{a) Actor-observer differences in
attribution

{6} Intrinsic-extrinsic differences
in attribution -

fc) Other's perception and
extrinsic motivation

{t) Self-perception and extrinsic

motivation
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80. Which one of the following is a

form of conditioning in which the
presentation of the unconditioned
stimulus precedes and does not
ogverlap with the presentation of
conditioned stimulus?

fa) Delayed conditioning
fb) Trace conditioning
foj  Simultanecus conditioning

fd} Backward conditioning

When an animal is expesed to
conflicting stimuli of excitation ang
inhibition in classical conditioning,
it results in
fa) passive-defensive reaction
fb) internal inhibition
fcj  external inhibition

fd} experimental neurosis

82. A psychologist investigating child

abuse wants to test the hypothesis
that those parents who abusc
their children were themselves
mistreated by their parents when
they were younger. Which ocne of
the following methods is suitable
for this purpase?

fal] Case study
f&) Introspection
fo}  Observaiion method

fd) Survey method

P-DTQ-J-QTZ/6A
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85. Motivational

83. Consider the following :

. Time sampling
Accidental sampling

Purposive sampling

Lol

Event sampling

Which of the above are related
to observational method of data
collection?

fa} 1 and 2
) 1 and 4
{c) 2 and 3
{d} 3 and 4

84. Among the following, which one is

quite different from the rest?
fe} Linear perspective

fo}  Retinal disparity

fe) Texture gradient

{d} interposition of objects

explanations of the
self-serving bias explain it as an
attempt to

fa} manage how others see us
{b} wmaintain self-csteem
{e) self-actualize

{d} fulfill achievement needs
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86. Perceptual vigilance and perceptual
defence arc related to which one of
the following?

(@} Subliminal threshold
b} Supraliminal threshold
{cj Optimal threshold

{fd] Terminal threshold

87. Consider the following Schedules :
i. Variable Interval Schedule
2. Variable Ratio Schedule
3. Fixed Interval Schedule

4. Fixed Ratio Schedule

Which of the above Schedules lead
to faster extinction?

fa) 1 and 2
fB) 1 and 3
fel 2 and 4

{d) 3 and 4

83. In one type of conditioning, the 8 is
presented and terminated before
the UCS onset. This type of
condifioning iz called
fo) Temporai classical conditioning
{b) Trace classical conditioning
fc) Delayed classical conditioning
{d) Backward classical condi-

tioning
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89. An individual of 30 years of age was

administered Stanford-Binet test of
intelligence. His mental age was
found to be 15 years. His IQ on this
test is

fal exactly 50 points
fb) below average
fc} average

fd] above average

90. When the interpolated learning fends

to interfere with previocus learning,
it iz known as

fa) Retroactive inhibition
f&) Proactive inhibition
fej  Overlearning

(d] Massed learning

91. Which cne of the following factors

has been recently included in the
Planning Attention-Arousal Simul-
tanegus and Buccessive (PASS)
theory of intelligence?

fal Knowiedge

th) Motivation

fei Memory

ld) Aptitude
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92. According to the Triarchic theory of 95, Consider the following staterments :
inteilipence, a person high on 1
‘Componental Intelligence’ would
excel in which major area?

Stress is a subjective
experience.

Stress is always harmfal.

fa) Achieving insight Moderate level of stress is

f&} Thinking critically and desirable for high performance.

analytically 4. Sources of stress  are
et Adapting to the outside world necessarily in the environiment.
fd) Creativity In the context of psychological

stress, which of the ahave

. . ., statements are correct?
93. Consider the following pairs -

1. Kohs block : Group test fag} 1 and 2
design test
2. Armmy alpha  : Test for bl 1 and 3
fest literates fc) 2 and 4 oniy
3. Binet-Kemath : Individual test
test {d} 2, 3 and 4
4. Raven's : FPerformance
PIogressive test 96. The Least Preferred Co-worker (LFC)
matrices index is the basis of

Which of the above pairs are

H _ .
correctly matched? fat ersey-Blanichard contingency

theory of leadership

{fa} 1 and 2 . .
{6) Managerial grid theory of Blake

fb) 1 and 3 and Mouton
() 1and 4 {c} Behavioural theortes af
fd) 2 and 3 leadership

94. Sume persons seem to experience a fd} Fiedler ’S_Cﬂnﬁﬂgﬂﬂﬁ}' theary of
state of psychological exhaustion leadership
due to repeated encounters with
Jjob-related stress. They are said to 97. Assessment centres grew out of the
be suffering from which one of the selection proceks of
following?

fal Managerial personrnel
{a) Nervous breakdown

() Emotional withdrawal fb) University teachers

{c¢/ Burnont {c} Police personnei

{d}) Depression {d) Army services

P-DTQ-J-(TZ/6A a6
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98. Which additional component in
Porter-Lawler theory differentiates
it from Vreom's expectancy theory?

{a} Equity
(b} Expectanc;,r

Goals

(e}

(d) Effort

99, Which one of the following is not
associated  with  Organizational
Citizenship Behaviaur (OCB)?

(at

Being well-informed

(b}

Conscientiovsness

fc) Attending and participating in

meetings

e} Punctuality

100, The modification of internal schemas

to fit a chanping cognizance of
reality is described as

fa}l Assimilation
{b} Association

fc}  Accommodation

{d} Acclimation
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101. Sheila had her first chiid seven years
after marriage. As the child grew
up, he was so demanding to the
extent that he would not share
anything belonging to him with
others, This behaviour of the child
could be due to

fa) rigid siandards
{h} avéﬁnduigence
fc} overprotection

{d} selfishness of the child

102. Which one of the following is
maximally related to entrepre-
neurial development?

{a) Neecd for affiliation
b} Need for power
{c/ Need for extension

fd] Need for achievement

103. Which one of the following is a
correct description of the term
‘emotion-focused coping™

{g] It is an attempt to change or
regulate the cognitive distress

resulting fram a stressor

{b} It i3 an attempt to reduce or
eliminate the problem causing

the stress

fc} It is an attempt to chenge the
social interaction causing the

ztress

It is an atternpt to minimize the
impulse-arcusal stressor of the
environment in which a person
lives

et
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104. Consider the following statements : 107. The curve of forgetting shows that

During the process of %lasaical memory loss

conditioning’, a response tends to

become fo) begins to occur about three to

four hours after learning
1. more firmly fixed
fb} occurs at a fairly steady rate

2. less generalized .
over time

3. anticipalory

occurs most rapidly at first and

. . {c)
Which of the statements given then levels off to a slow decline

above are correct?

{d} occurs slowly at first and

fa) 1 and 2 only increases steadily over time

fB) 2 and 3 only

108. Recognition, understanding and
fcJ 1 and 3 only , reasorling about emotions as well
85  accurate  expression  and
appraisal of emoations in oneself
and others zand assimilation of

fd) 1, 2 and 3

105. As the distance increases, the emotional experience into cognition
texture in the visual field appears are spme of the important indices of
to be which one of the following?
fa} coarser ta finer fal Emptional maturity
{8} coarser and coarser {6} Emotional stahility
fc) finer to ﬁgarser fc; Emotional intelligence
(d} iiner and finer fd) Emctional adaptabiliiy

106. The extent to which a test correlates 109. The degree of distance a person
with other variables with which it wishes fo maintain in relationship
should theoretically correlate is to people of other groups can be
known as measured through
) Content valdity fa) Scalopram analysis
(b Construct validity f£) Summated rating scale
fc}  Predictive validity fc) Equal-appearing interval scale
fdl Face validity fd} Social distance scale
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1185, Th’eq p?océﬁs fhfnugh which omne
teams new behaviour by observing
the behaviour of others is known as

fe} Modelling ~ .
(b} Self-efficacy

fc} Shaping

E LN

{dj Conformity

116. When prejudiced individuals engage
in trivial positive actmns towards
" the members of groups they dislike,
it is called 14

-

I .
{al Allurement
" (b} ‘Appeasemefit

fc) Credibility
LY L £
v fd) Tukemsm

n.i"...
117. Which theory eXplains that prejudice
sometimes  stems  from direct

tompetition among social groups?
©o e f

fa) Social learning theory
w B oR Tt

fb) Realistic conflict theoty

fe}  Social diversit}r theory

(d) Self-monitoring theoty
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118 Cuns1der the fu]lowmg tests ¢

i

1. Alf:xander s Pass Along Test
2. Embedded F1gure Test

Which of the above is/are the

periormance "7 {est/tests of
intelligence?
(SR P
{a} 1 only
{b} 2 only
R i.ﬁll A oy it . i@

{¢) Bath 1 and 2

o (dJ'_ Nmther 1 nor 2

i o] +
119. A negative attitude towards the
members of some “specific social
group that is based solely on their
membership in that group, is due to

fa) categorization 7

(b identification.

{c) prejudice
£V .1 () discrimination Y
we TF R T R -
r R - - d

120. A basic form of learning in which one

S Stlml_lll.lﬂ initially neutral, acquires

-=% the capacity to evoke reactions
through ‘repeated pairing with
another stimulus, is

+ .,

fa} Social learning
(b} Classical conditioning
(el Instrumental ééndjtiohing

{d} Operant conditioning
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